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U m/s
H, m
)
1
C= 82 i 2 2t o2 2 2 °10°
27y R +(aly)*(H.,—2)° R +(aly)*(H.+72)
R m
oy
(CONCAWE ) (Briggs )
H, =H,+AH
He
HO
AH m
H=0.175 Q,"* U AH :14.QH%(d%Z)’%
Qu calls
Qu cal /s
U m/s
dg/ /'m
Qu=p Q Cp T dz
b 0 =1.293%10° g/m?® 494, =g, + Td
Q m3N/s av/ /'m
C, =0.24 callK g rd =0.0098 /m
T 15

2-9




o)

! o
2 |— _ 2 2 '|
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METI-LIS
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ISC Industrial Source Complex
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( 40 © 90
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o \%
1.5 2.4 0.86 0.16 1.47><fs
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2.5 1.07 0.71 0.107 0.018
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o0 315 )
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METI-LIS

Q ( 0.01kWm-2)
U(ms™t) ( =0)
60 Q 30 59 |15 29 1 14
U 2.0 A A-B B D
2.0 2.9 A-B B C D
3.0 3.9 B B-C C D
4.0 5.9 C C-D D D
6.0 U C D D D
(2)
1,000 1,000
A
~ 100 é/ ~ 100 /
D
G N //E/
O 10| © 10 &
1 1
100 1,000 10,000 100,000 100 1,000
)
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3)

10m
k t m/s km/h mile/h
0 0.0
1 0.3 1 1
1 1 0.3 1 1
4 1.6 6 4
2 4 1.6 6 4
7 3.4 12 8
3 7 3.4 12 8
11 5.5 20 13
4 11 5.5 20 13
17 8.0 29 19
5 17 8.0 29 19
22 10.8 39 25
6 22 10.8 39 25
28 13.9 50 32
7 28 13.9 50 32
34 17.2 62 39
8 34 17.2 62 39
41 20.8 75 47
9 41 20.8 75 47
48 24.5 89 55
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10m
k t m/s km/Zh mile/h
10 48 24.5 89 55
56 28.5 103 64
11 56 28.5 103 64
64 32.7 118 73
12 64 32.7 118 73
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0.02ppm
5ppm
0.04ppm

0.04ppm

1 0.04ppm 1
1 0.02ppm
0.0125mg/m? 1 1

1 0.04ppm

1 0.04ppm
1 0.04ppm 0.06ppm

0.10mg/m?®
1 10ppm
20ppm

0.06ppm
10t/km?/

1 0.04ppm
0.10mg/m?®

0.06ppm
3pg/m?

0.017ppm
0.020ppm
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0.06ppm

0.10ppm

0.075mg/m?

1 0.1ppm

1 0.20mg/m?

20t/km?/

1 0.20mg/m?®



)

) ( )
20km/h 0.118 2.08 0.007 0.107
30 0.097 1.67 0.006 0.086
40 0.077 1.35 0.005 0.071
45 0.070 1.23 0.005 0.065
50 0.064 1.15 0.004 0.060
60 0.057 1.09 0.004 0.054
70 0.059 1.16 0.003 0.053
80 0.068 1.39 0.004 0.056
90 0.086 1.75 0.005 0.063
100 0.113 - 0.007 -
110 0.148 - 0.009 -
-0.902 0.00578 0.0000439 % 0.261
-7.12 0.0895 0.000735 ? 3.93
-0.138 0.000456 0.00000317 2 0.0218
0.0318 0.00310 0.0000227 % 0.158
g/km
() km/h
110km/h 20 90km/h
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